WHREAXKDE AT OSRHFE=HECARZE

®F AL #7 BHS 1431 46 it a] #x
IR Bmm 96.80 5°8 20224F1H5H
I R 95.96 =2 20224F1H5H
IFIE] WHRE 94.64 4 20224E185H
I KT 91.24 4 20224F185H
IR =R 90.48 5 20224F1H5H
381 == 90.36 B 20224F185H
381 k1% 89.60 2 20221 85H
I Z= 21 89.48 5 20224F1H5H
I kg 88.48 =2 20224F1H5H
IR KBRS 88.44 2 20224F1H5H
IR RIRF 88.28 5°8 20224F1H5H
IPIE] N 88.24 = 20224F1H5H
IPIE1 EEH 88.20 T 20224F1H5H
IPIE1 X EE 88.20 H 20224F185H
IPIE1 AXRRE 88.20 = 20224F1H5H
IPIE1 o= 88.12 = 20224F185H
IPIE1 g 88.04 4 20224F1H5H
FIE1 TE&F 88.00 5 20224F185H
IPIE1 Tk 87.64 H 20224F185H
P11 KEW 87.44 4 202241 85H
IPIE1 T 87.24 T 20224F1H5H
IIE1 $RE 87.08 5 20224F1H5H
IR A K VE 86.96 2} 2022 1H5H
P11 R 86.96 =2 202241 85H
IFIEL % 86.88 5’8 2022418 5H
IPIE1 FER 86.84 =2 20224F1H5H
PIE1 W 86.60 % 20221758 &4, HrilE)q 1419086
IPIE1 RS 86.60 5 20224F1H5H
P11 KIEMB 86.56 =2 202241 85H
I REFT 86.52 5'8 20224F1 8 5H
I FEF 86.36 E= 202241 85H
I BN R 86.24 =2 202241 85H
FIE1 EEEAN 86.08 5 20224E185H
IIE] EhE 85.76 s 20224F1H5H
I ZEXCR 85.64 =2 202241 85H
IPIEL FRIK+E 85.60 5 20224E185H
IIE] e 85.48 s 20224F1H5H




WHREAXKDE AT OSRHFE=HECARZE

®F AL #7 BHS 1431 46 it a] #x
I B 85.32 5 20224F185H
I ZRREEL 85.04 4 20224F1H5H
I LEw 84.92 =2 20224F185H
I &% 84.88 =2 20224F185H
IFIEL st 84.80 4 2022418 5H
I THR 84.80 =2 20224F185H
I et 84.60 T 20224F185H
I T 84.32 =2 20224F185H
I SRS 84.24 5 20224F1H5H
IPIE] YR Z 84.20 = 20224F1H5H
IPIE1 T 84.20 4 20224F185H
FIE1 EEE 83.80 5'8 20224F185H
IPIE1 EE B3 83.76 = 20224F1H5H
IFIEL X = 83.64 5 20224E1B5H
IPIE1 %E 83.64 4 20224F1H5H
IPIE1 BEM 83.60 T 20224F185H
IPIE1 Sk A5 83.52 T 20224F1H5H
IAIE] HFE 83.40 5 202251 H5H
IPIE2 FERE 92.56 4 20224F1H5H
IPIE2 Z2 91.76 4 20224F1H5H
IR R E 91.48 5’8 20224E185H
IPIE2 X 25 91.24 4 20224F1H5H
IPIE2 pUf 91.16 5 20224F1H5H
IPIE2 Iz 91.16 4 20224F1H5H
PFIE2 Pl 91.12 5 20221 86H
IFIE2 FNME 91.04 = 20224E1H6H
IR T 90.96 5’8 20224E1 B 6H
IPIE2 H JkE 90.60 28 20224F1H6H
IPIE2 P 90.48 4 20224F1H6H
IR (P 90.04 5 20224E186H
IR B 89.92 0’8 20224E186H
IR TERIE 89.88 0’8 20224E186H
IPIE2 Eb= 89.72 4 20224F1H6H
P12 MER 89.56 =2 20221 86H
IFIE2 KEE 89.40 5° 20224E1H6H
IR KEEN 89.36 5’8 20224E186H
IR FHEE 89.28 5’8 20224E1 8B 6H
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WHREAXKDE AT OSRHFE=HECARZE

®F AL #7 BHS 1431 46 it a] #x
IPIE2 FhiEB 89.20 5 20224F186H
IPIE2 SR EH 1 88.80 = 20224F1H6H
P12 XE X, 88.68 5°8 20224F1H6H
P32 ES| 88.48 4 20224F1H6H
IFIE2 T 88.40 58 20224F1H6H
IAIE2 ok FE 4 88.12 4 202241 86H
IPIE2 BEIRN 88.12 = 20224F1H6H
P12 fLeEfB 87.80 5 20224F1H6H
IFIE2 TE 87.80 T 20224F1R68 |E4, HE)EDIA70628
FIE2 KEE 87.76 5’8 2022418 6H
IPIE2 =R 87.24 4 20224F186H
FIE2 oK 58 87.08 5'8 2022418 6H
IPIE2 B B 86.80 T 20224F1H6H
IPIE2 e 86.60 = 20224F186H
IR SUE 86.24 5’8 20224E1 B 6H
FIE2 FNIETK 86.16 2 20224F1H6H
IR 24D A 85.92 5 20224E1 B 6H
IPIE2 B 85.80 %z 20224F186H
P32 ABEE 85.68 4 20224F186H
IPIE2 E5HE 85.16 4 20224F1H6H
IPIE2 BT 85.16 4 20224F1H6H
IFIE2 BEE 85.16 5 20224E1H6H
IR SR 85.12 5’8 20224F186H
IPIE2 XS 85.00 4 20224F1H6H
IPIE2 FiE1E 84.60 28 20224F1H6H
IPIE2 FEEm 84.28 T 20224F1H6H
IPIE2 FBRER 84.20 T 20224F1H6H
FIE2 KIS 84.16 5'8 20224F1H6H
P12 R 83.80 8 20221 86H
IPIE2 L 83.76 s 20224F1H6H
IPIE2 ZpRM 83.44 s 20224F1H6H
IR Xk 83.24 0’8 20224E186H
IR =35 83.16 0’8 20224E186H
IR ZE3R5W 82.80 5 20224E186H
IR Bl Rl 82.80 0’8 20224E186H
IFIE2 FER 82.64 = 20224E1H6H
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